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3rd Semester Examination

CHEMISTRY (Honours)

Paper : C Z-T

[Organic Chemistry-Il{l

lcBCsl

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full mart<:.
Candidates are required to give their answers

in their own words as far as practicable.

Gnoup - A

1. Answer any tive questions : 2x5:10

.r(a) How can you convert (e-2-butene to (E)-2-
, butene?

(b) What happens when one.mole of phMgBr is
allowed to react with 2 moles of phCHO in
anh. ether followed by usual work-up (acidic)
of the reaction mixture?

.(6) Wtrat happens when o-bromoanisole is teated
with NaN H, I I t q.N H r? Explain.
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(6)
Give the product(s) of the following reaction
and explain.

c H3c H = c H - c Hzc H3-I{#fl5
Cany out the following conversions and grve

plausible mechanisms :

0[>o *(=,cooH
(il UeCOCH,CH)COrEI -----+

MeCOC HrC HrC MerOH

Acetanilide undergoes nitration by

AcrO - HNO, predominantly at sterically

hindered ortho position - Explain
2+2+(2+2)+2

(iv)

J


